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Hello Year 4!

Another two weeks have flown by! How are you all? We hope you are staying safe and looking after
each other and your families. It feels like forever since school closed and we are missing you all lots.
There have been lots of changes going on in the news lately with more places slowly starting to open
and even though we’re not sure when we'll see you next, we are still here for you! You can contact
us on Purple Mash or you can email us at homelearning@greenlane.ngfl.ac.uk. We would really love
to hear from you!

With having so much extra time on our hands, it could be a nice idea to learn a new skill or practice
an existing one. Mr Evans has been spotting and then painting birds in the wild and Mrs Wakelin has
been gardening (around the rain!). Miss Parkin has been learning how to French braid her hair and
doing some research about how is best to look after the new flowers in her garden. Mrs Forbes has
started to teach her son Jack how to cook some delicious food such as cupcakes and even lasagne! Is
there anything that you want to get better at or learn how to do? Do you want to improve your
drawing skills or maybe learn how to do a hand stand? Have a think, is there anything new you want
to do? Let us know what you’ve all been up to.

As well as using our fantastic work packs, have you been doing any online learning? There are loads
of fun games and tasks to do on Purple Mash and it’s a great way to keep in touch with friends and
teachers. TT Rockstars, NumBots, Bug Club and Spelling Shed are also available! Your brain is a
muscle too so do try and keep it working regularly. All of the teachers still check to see who's going
online and reply to any messages.

As well as your brain it’s important to work out the other muscles in your body. Your health and
wellbeing are very important, if you are not doing so already, follow Joe Wick’s workout routine
every morning at 9am https://www.youtube.com/results?search_query=joe+wicks. Make it a fun-
filled competition, why not get the whole family to join in? Alternatively, quiet ‘me time’ is also
necessary, meditation, reading and yoga will help you strengthen and relax your mind. You are
allowed to exercise as much as you like outside now so make the most of it. Ride your scooter/bike,
go jogging/running or take a walk. Remember if there are other people out, who do not live in your
house, make sure you are at a distance from them (2 meters minimum).

We do advise that you try to have a good routine during this time. This would include:

e Having regular bedtimes and waking up/breakfast times.

e Try not to stay in your pyjamas once you have got up.

e Have regular meal times where you can eat together and talk. Don’t be afraid to ask
questions.

e Turn off your screens at least an hour before bed so that you rest and sleep properly - it
doesn’t help any of us if we are tired and grumpy in the mornings.

Please don’t forget that we are here for you; email our school home learning or on Purple Mash.
Stay safe and take care of yourselves,

Love from,

Miss Parkin, Mrs Forbes, Mrs Wakelin and Mr Evans


mailto:homelearning@greenlane.ngfl.ac.uk

Maths

Just like we do at school, why don’t you try to do some morning arithmetic activities each
day? Ask a grown up to set you some questions each morning.

This pack will cover some work that we did at school at the beginning of the year.

Place VYalve of 4-Digit Numbers

1. write the numbers in the comect ploce on the fable.

4-digit

=L Humber

The number has 2 thovsands, 4 hundreds, & tens and 3 ones.

The number has ¥ thowsands, 3 hundreds, 1 ten and 7 ones.

The number has & thowsands, 7 tens and 2 ones.

The number has & thouvsands, 3 hundreds and 5 ones.

18072 | |9317| |[2483| [4305]

2_ are these statements comect? How do youw know?

| A The missing number is 3. ] [ B. The missing numbeer is 100. J

@#J@Lﬂ“ m} I@#Gn—;i}®
JOJOROYO

3. Theo is crealing the number 4,307,

A i 1 add 2 more 1.000s 1005 10s 1s
3 3 hundreds, my
T new number 1,000 1,000 w W 0 1
;;f will be &,307.
' 1

i

1,000 1.000

Explain Theo's mistakes.




Maths

Find 1s, 10s, 100s and 1,000s More or Less

1. starting with the number represented
by Base 10, complete the calculaficns.

« aAdd 80
subiract z.000
Add 300
what is the final answer?

2. Fut these nvmbers in order from 1,592
to 3,092 The numbers increase by 300
and some have been coverad.

1,592 ] . 3,092
Ii gi
e . _
L = L] .
B 1,892 ‘

5. Sinead thinks of a number. what
mumber did she start with?

| add 3,000 to it, sublract ?D,W *

add 4, then subfroct 200, My (V)
answer is 5,077,

Sinead

3. mafch the calcwahion to the comect
ONSWEr.

4 Complete the sequence.

006

what is the sequence decreasing by
each fime? Explain how you know.

Add 2 000 to & 705, then
- id 300, A,MSJ
" b i' 5
Subfract 400 from 4,645,
B- then odd 4. 7.005
-~ 5 ' T
Add 3 000 to 1,205, then
c- subfract 200, 4.04%
L - -

4. Complete the calculalions.

A 3,778+ 40 =
B. 4,155 — 200 =

c. 1,330 -4 =

7. Kelly says,

when | add &00 to
2 T¥E 0 -I_:]-E-T B TFY.

Eelhy

Comect Kelly's answer and explain her
mistake.




Maths

Round to the Nearest 100

1. Cindy and Eyle are rovnding the nember below to the nearest 100,

I

5 hundreds, 5 tens and 5 ones J
L.

-
The answer is The answer is w
T ¥
-

i S0, si¥ hundred.
il .

Eyle Cimdy

whio is comect?

2. Round each number to the nearest 100 to find the odd one out. Write the odd one
cut tor each part in the answer boxes below.

a0 AV i 4 B[ hYd ™
hundred fhree
667 || e 389 || hundred
two amd six
‘. AN A . AN y
i W A i o '
ETH o
498 hundred hundred =41
and eighhy and ninety
b, AN A L. AN r

3. Taylor is thinking abowt rovnding fo the nearest 100,

This number
rouvnded to the
.."'_.. nearest 100 is 70D

Is Taylor comect? Explain your answer.




Negative Numbers

Maths

1. Write the cormrect iemperolute for each thermometer.

A C. D.
— — 122C —_— —3 1eC
— — — 20oC
w— - N 8°C w— i -5°C
—  .&°C — - L 12°C
_ — | 4C i -9C
— A25C — . #C -
== — 0=C ; -13C
—e16°C 4+C .
- -4+C LAeC
— 20°C 12=C
I 85°C .21°C

LLLLI

)

2. Diego the diver wanis to reach the freasure. He dives down 8 mefres. How much

further does he need fo go fo reach the top of the freasure chesi?
R —

& T

<10

14

18 \

AN

3. Suzie is counfing backwards.

When | count

back in 5s from
25, 1 will say -10.

Is she cormrect? Explain how you know.




Maths

Addition and Subtraction

Addition

o Complete the calculotion.

0 O

e |

H

C0| 00O

©00|0000
000 ©00
©000 000

=
=
»
o

[ %]
—
=
[ ]

+
Lid
=
1y ]
]

o Who has got each question correct? Tick your answer.

a) Mijah Seott
HIT O HIT O
4|5 4145
+|(3|4a|8 +(3 4 8
78 1| 3 793

1




Maths

b) Mijah scott

Thi{H | T 0O Thi{H | T O
4 B |26 4|82 6
+ /1|78 + 178
& 6|06 S 0|04
11 111

What mistake has the other person made In each
calaulation?

Talk about It with a partner.

o complete the additions.

a) ) 3,784 + 2,526

b) d) 79 + 654 + 1,312




Maths

o write eadh colculation In the correct column.

I: 712 + 394 j,l [: 1,312 + 2,527 j ( 2,350 + 3,760 j]
[_ 1,995 + 712 jj [3,nu+ 2,3?221 [ 17 + 953 j

Mo exchangs 1 exchanae More than ong
neaded g exchange

Write one more calculation of your own In each column.

o Dexter |5 ploying a computer gome.
The table shows the number of points he gets In each round.

Round 1 2 3

Number of polnts 3,550 2,175 1,895

a) How many polnts does Dexter have at the end of Round 27




b) He neads 8,000 by the end of Round 2 to win the gaome.

Does Dexter win the game?

Show your working.

° Work out the missing digits.

a) b)

Th H|T © Th H T ©

37 9 g8 1
+ + a9

6 9|2 & 42 8

€) Find two possible answers.

Th H T O

m|w | w| S
@ | m | =

2
+ 3
[

How did you work this out? Talk about It with a portner.

Are there any more answers?

10

Maths



Suntraction

‘_J Kim hos made a number using base 10

Th T 0

H
E &3 ™
o
[
B

a) subtract 8 from Klm's number.

b) explain the method you used.

€) Subtract 20 from Kim's numbear.
d) Subtract 900 from Kim's numbear.

e) Complete the subtractions.

1,702 - 28 = 1,702 - 928 =

11
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Maths

a Use the place value chart to complete the subtroctions.

2220199
868898

a) 564 — 354 = €) 564 — 365 =

b) 564 — 355 =

Look at your calculotions in parts a), b) and c).
What Is the same? What I5 different?

€) use the place value chart to complete the subtractions.
@0 00 OTO“
8@ ©0 0O 30

Th H

@) 5,435 - 2,036 =

b) 5,436 - 2,036 =

€) 5,437 - 2,036

Look at your calculations in parts a), b) and c).
What Is the same? What Is different?

12



o Complete the colculations.

a) Th

H T|O
7
-2z 4
b) - o

&
- 7

a A Jug contalns 1,500 mil of julce.

The julce Is poured Into 2 glassas,
Each glass holds 258 mil of julce.
How much Julce Is left In the Jug?

Maths



o Work out the missing digits.

a) Th H| T ©

7

i |

-1 2

a Arrange all the digit cards to maoke a possible subtraction for

each description.

b)

0| 1

2

4

a) There are 2 exchanges.

The answer Is
less than 2,000

b) There are 2 exchanges.

The answer Is

gragter than 4,000

€} There are 3 exchonges.

14
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Maths

Measurement

In this pack, we are going to begin looking at measurement. We are going to start with
perimeter.

What Is the Perimeter?

Ruby says the perimeter is the outside of a 2D shape.

How can you help Ruby to be more accurate with her
explanation of perimeter?

The perimeter is the measurement of the
outside of a 2D shape.

Mohammed says he remembers perimeter by saying it's
how far an ant walks when it walks round the edge of a
2D shape.

Share with a partner how you might remember how
to work out the perimeter of a shape.

How to Measure Perimeter

Mariam measures the perimeter of this rectangle
by measuring 2 of the sides.

Explain how Mariam can correctly measure the perimeter of the rectangle?

15
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Perimeter is the distance around the edge of a shape. Click on each length to add
it to the sum below. Add all the lengths to calculate the perimeter of the shape.

7cm+3cm + 7cm + 3cm = cm

Because rectangles have 2 pairs of identical sides, you can do this instead:

Calculate the perimeter of each rectangle by adding the length and
width together and multiplying by 2.

3cm 6bcm

4em 5cm

L4em + 3cm = Tem 6cm + 5cm = 1lcm
Tcm x 2 = 14cm Tlem x 2 = 22cm

16



Maths

Questions

Stage 1

1) Calculate the perimeter of each rectangle.

The rectangles are not drawn to scale. am
4em
5m
cm m|+ m+ m+ m|= m
cm [+ cm |+ cm |+ cm = cm m|+ m+ m+ m|= m

2) Add the length and width together and multiply by 2 to calculate the perimeter of each rectangle. Show your
working out.

20cm

am
Tecm
12em
Zcm m

17



Maths

Stage 2

Sami is calculating the perimeters of different shopes.

1) Lock at his calculations. Which are correct? Can you explain why? Can you explain the mistakes and
find the correct answers?

10cm
4em

S5cm
Icm

locm + Scm = 15cm

Gem x 2 = Fem 2x 8= WMm
I5cm x 2 = E0cm

2} The perimeter of a rectangle is 18cm. One of its sides is bocm. Drow the shope below and label all the sides with the
correct measurements.

18
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Stage 3

1) Arectangle has a perimeter of 36m.

The length of sach side iz a whole number. What could the length and the width of the rectangle be?
Find all the possibilities.

2) Aiden measures the perimeter of his classroom. He notices the classreom is 1m wider than it iz long. The perimeter
of the clazsroom iz between 20 and 3 5m. The length of each side is a whole number.

What could the dimensions of the room be? Find four different possibilities.

19



Science

Every day, BBC Bitesize have an English activity on their daily learning page. Why not have a

look each day? You could always try the learning from earlier year groups to remind yourself

of work that you have done before.

Conjunctions
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Science

This pack is going to look specifically at subordinating conjunctions. Here is some information we
looked at in class:

Getting Started

What is a conjunction?

A conjunction links two or more words, phrases or clauses together.

There are two main types of conjunctions we use within sentences.

Do you know what they both are?

* co-ordinating conjunctions (e.g. and) link two main clauses
together as an equal pair to create a compound sentence. We
usually remember these words using the acronym ‘FANBOYS'.

* subordinating conjunctions (e.g. when) introduce a
subordinate clause. You can remember some of the most useful
subordinating conjunctions by...

...spotting one of the rarest
monsters on the planet, a
wabub, and shouting...

I SAW A
WABUB!

21



Science

I Saw a Wabub...

...is an acronym to help you remember the first letters of some of the most
important subordinating conjunctions.

oom o

I SAW A WABUB!

Next Steps

So, how do we use subordinating conjunctions?

Subordinating conjunctions are the first words within a
subordinate clause. Subordinate clauses do not make sense
on their own but when they are used with a main clause,

they create a complex (multi-clause) sentence.

Subordinate clauses will always have a subject and verb within them, e.g.

after she smiled after Christmas

| liate SN | 1

subordinating  subject verb Here ‘after’ is being
conjunction used as a preposition.
is a subordinate clause is not a subordinate clause

Remember, a subordinate clause must include:+

Subordinating conjunction, a subject and a verb.

A subordinate clause does not make sense by itself.

22



Science

In the sentences below, first highlight the conjunction. Then underline any independent
clauses in blue and subordinate clauses in green (remember, the subordinate clause includes
the subordinate conjunction). | have done a couple for you as an example:

| don’t like scary rides so | didn’t go on the rollercoaster.
[ banﬁed into the table and the Eencil EOt fell over.

I have never liked heights, so I didn't go to the top.

Make a sandwich, unless you're eating out.

He still shouted at me and I cried.

Whether you like it or not, I'm going to the cinema.

They were going to build a road, but people didn’t want them to.

I'll do it, because I'm going there anyway.

23
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A subordinate clause can go at the beginning of a sentence (acting as an adverbial opener), in
the middle or at the end. Here is an example:

(Existing sentence |(Extended sentences )

[Kutg took a deep breath and blew Jr-ﬂ.jter we sang Happy Birthday, Katy took a deep breath and blew out her

out her candles. candles.
L.

e

rKaLg, who was Q-Heurs-old today, took a deep breath and blew out her

candles.
\

e

rKaLg took a deep breath and blew out her candles before we cut into the

cake,

The subordinate clause has been added to give more information to the reader. Have a go at
making these sentences more descriptive. Write 3 new sentences, adding more detail using a
subordinate clause in different places.

| think it’'s my turn to do the washing up.

26
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The whole car was full of our camping equipment.

The bird flew down and landed on the bird table.

27



Science

James lit the rocket and the fuse began to fizz.

Jamal looked up into the bright blue sky.

28



In Science, our topic is all about Living Things

Here is the knowledge organiser with both parts.

Science

Living Things and Their Habitats Year &

organisms

This is another word that can be used to mean ‘living things’.

To stay alive and healthy,

life processes

The things living things do to stay alive.

all living things need certain
conditions that let them

respiration A process where plants and animals use oxygen gas from the air to help turn | [carry out the seven

their food into energy.
sensitivity The way living things react to changes in their environment.
reproduction The process through which young are produced. Growth

Movement Reproduction

excretion The process by which living things get rid of waste products. Respiration Excretion
nutrition Food which provides living things with energy to live and stay healthy. Sensitivity Nutrition
habitat The specific area or place in which particular animals or plants may live.
environment An environment contains many habitats and these include areas where there

are both living and non-living things.

endangered species

A plant or animal where there are not many of their species left and scientists

are concerned that the species may become extinct.

extinct

When a species has no more members alive on the planet, it is extinct.

Changes to an environment can be + earthquakes

+ deforestation

some examples of things that can
change an environment.

« wildfires
» the seasons

or plant species to an environment
- creating new nature reserves

natural or caused by humans. Changes / /  + storms U‘é" » pollution
to an environment can have positive .:,g . ﬂoods ,4‘ » urbanisation
as well as negative effects. Here are / / & » droughts « the introduction of new animal

Plants and animals rely on

the environment to give them

everything they need. Therefore,

when habitats change, it can be

very dangerous to the plants and
animals that live there.

Key Vocabulary I Animals can be grouped in lots of different ways based upon their characteristics. ]

classification This is where plants or
animals are placed into W W
groups according to their Q — |
similarities. § m'
vertebrates Animals with a backbone. v m slugs and
mammais| | fish | | birds | |reptiles| [smensions| | insects | | spiders | [ worms snails

Vertebrates can be separated into five

invertebrates broad groups

Animals without a backbone.

You can use classification keys to help
group, identify and name a variety of
living things. Here is an example of a

classification key:

specimen A particular plant or animal
that scientists study to find

out about its species.

The distinguishing features

Does it have legs?

You could sort invertebrates you might
see around school in different ways, such
as in this example. The vast majority of
living things on the planet are
invertebrates.

Invertebrate Classification Key

or qualities that are specific yes

no

to a species. How many leg's does it have? Does it have a slegmented body?
- - mang legs 8 l'egs 6 l'egs yes no
Plants can be sorted into many different groups. Does it have Does itlhuve a Does i't have Does itI have a Doe.s it

For example: an oval body? two part body?  wing cases?  long, thin body?  have a shell?

yes no ¢ no no  yes no | no

Flowering Plants woodlouse spider  harvestman | earthworm larvae snail slug

Does it have Does it have Does it have a

very short legsl? p'}ncers on its mil'? lo|ng, thin bodgl?
; AR yes no yes no yes no
millilpede centilpede eur:.vig beétle cuter‘pillur CL:lt

29



Science

The last couple of packs looked at putting living things into groups in different ways. This one
will consider another way of grouping animals; whether or not they have a spine. The bones
in your spine are called vertebrae and so a living thing that has a spine (backbone) can be
called a vertebrate. We know that the prefix “in” means the opposite, so invertebrate means
without a spine.

Invertebrates

These are animals with These are animals without
backbones. backbones.
Vertebrates are divided into five groups: Invertebrates are divided into further
1. Mammals groups. These include:
2 B}““ Molluscs, Insects, Arachnids, Annelids,
2' E'Sh 3 Crustaceans and Echinoderms.
. Reptiles

= Amphiblas Some examples of invertebrates:
ladybirds, squids, bees, snails, centipedes,
wasps and flies.

Some examples of vertebrates:
humans, elephants, cows, dolphins, cats,
sparrows, frogs, fish and crocodiles.

Read this short information text about invertebrates and then answer the questions:

1. 'Write o short definition af the word

Invertebratez are o species af animals thot do not have o . .
invertebrate.

backbone. Mammals, amphibians, reptiles, fish, and birds
are not invertebrotes becouze they all hove wvertebroe
{zpinal bones). Vertebratez make up less than 4% of all the
animal species on Earth. This means thot around 96% of

animal zpecies alive are invertebrates. Theze include marine

invertebrates and mollusks, such as sponges, jellyfish, and 2. What percentage of animals on Earth
oysters, as well as crustaceans and insects, such as crabs, actually have spinal bones?

shrimp, and butterflies.

The largest invertebrote ever recorded was a giont squid that
measured &0 feet long. The smallest invertebrates are o tiny

3. Who d think thiz i ation is for?
that they cannot be zeen by the noked aye. @ E0 you thin iz information iz fo

& Write two questions thaot you could find the
anzwers to in this text.

30



Science

Now we know lots of ways to put living things into groups we can start to look at a process of

sorting that scientists use called classification keys.

Classification keys are a way of identifying living
things through a series of questions.

For example:

‘Does it have wings?’

Each question has a yes or no answer and leads
you one step closer to the name of the living
thing.

Does it have wings?

/ N\

no

N\

Does it live under

S water?
owl

The first question is always quite general
because it needs to help sort the living things
you are classifying.

3 &P

The questions will gradually get more specific
as they separate living things that are more
similar.

31
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Have a go at these classification keys activities:

E}-]"l nere

fes ——e—— (Can [ Fly? ——= No

} !

- ! Tan - - Do I live underwater?
” 4 Y
Me
¥
Do I have ESEI::

b A /
3

b mian L y )5. No

Il ) .

I:: |q_:-'..'-,'r' I- '_-.I"l

&35

Y
C.’;ﬁ-:-’._|

ﬁ"'.‘-:-: L "
%, "

E-I'IGI{E'

&

':I:II'I jl:l.l 'H'lll'“l‘ﬂ. ::I: I::I"I._.I l,,':'l"'l-.f!" an I'I'I'i'_tll '-.".'l"lll:.l'“

would Fit in the boxes?
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Sort the minibeasts from the bottom of the page.
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Science

Can you think of questions that would sort these animals? Think carefully about the answers
that are there (yes/no).

No
Do I belong in the water?
No

Complete this flow chart
Does this animal
have wings?

Yes

Yes
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Doorstep Wildlife

Evan if you live in o busy town or oity,
weildlife will ba all around you @ it monages
to survive pretby much evenypwhers; you just
hove to look to find it! If you search hard
ancugh, you will probably find signs of
urban cremfuras in your strest, on your school
playing field, through your window, ot the
park or in any busy, built-up space. Lat's take
a closer look ot just somas of the animals and
H.rd-n'ﬂlu‘l'mnnugl'bu:miunhmrtnwnn
and cities..

Foxes

Tt is ectimoted thot thers are around 33 L0000
foxas [mommals with reddich orange fur
and bushy taild) living in and arcund wrhan
areas in the VK. They are the most common
wild carmivore found in our fowns and
cities ond hawe adapted brilliontly to life
in busy surroundings. Thay eat o wide and
varied dist, which includes food stolan from
dusthing, bird tables and compost heaps, as
wall a5 wild mommaols, birds, nn.rﬂ'twnrm:,
bestles and fruit. Foxes ore mostly nocturnal
animals but they ore aften seen in wrban
areas during the day Unfortunately, many
foxes are sodly killed on the ronds each year
in the UK.

Hedgehogs
Hedgehogs con be found in almost all
urban areas of the UK, except some areos of
Scotland. The spiky mammaols live in nests
under hadges, where lots of insects and othar
inwertechrates con be found Unlike fomaes
ond pigeons, hedgehogs are waell-liked in
the UK and are oftan called the ‘gordensr's
friend’ az they lowe sating crectures such
os caterpillars, slugs and snails, which can
often ba wery domaging to gorden plonis
Hedgehogz hawe charp gquills on their bock
Whan they feal threatened, they contract two
lerge muscles in their back. This couses thece
guills to straighten out. At the somae tima, thae
hedgehog alse curls up into o boll, tucking
its face and legs into its bally. This protects it
from potanticl danger. Sedly, it iz sctimated
thot just one million .

hedgehogs are left in .
tha UK, which iz o0 975
decrease since the 1950,

Did You Know...7

Thinking it is good for them, people often lsawe bread and milk out in their gardens for wrban
hadgehogs to snock on. Howsever, octually you should never feed hadgehogs milk as it can cause
them to becoma terribly ill. Instead, try and provids them with plain, frech water in o challow

bowl along with tinned dog or oot food.

Reading




Pigeons

Pigeons are one of the most common birds
within the UK. Their cooing callz are a very
familiar sound within most cities and town
centres. They survive by eating dropped food
and litter, az well as insects, seeds and food
from bird feeders in urban gardens. Pigeons
are often conzidered to be vermin, with many

people believing that they carry disease,
damage property and pollute urban areas
with their droppings. Some city councils have
oven tried to reduce the number of pigeons
by destroying nesting sites, removing pigeon
0ggs from nests and introducing more regular
litter collections.

Questions:

Answer in full sentences where appropriate.

Doorstep Wildlife

Science

Glossary

carnivore An animal that eats
other oreatures.
An animal without a backbone.
Athauﬂmtiluﬁvont
night (and may slesp during
daylight hours).
vermin An cnimal that couses harm or

damage or is difficult to control.

How Can We Help Urban Wildlife
to Survive?

Ovar the last few decades, the number of many
urban animals haz dropped, which iz due
mainly to the reduced numbers of gardens,
parks and open green spaces. It iz now much
more dangerous for urban animals to find
food and move from place to plase than it
was 50 years ago-.. but you can help them!

If you have any ocutdoor space or a garden,
you could try to help urban animals by: _4

» making and hanging a
simple bird feedor;

» making holes in fences;
* planting flowsrs and plants.

g

1. Which animal is the most common wild carnivore in the UK? Tick one:

a. Hedgehog
b. Pigeon

c. Fox

d. Badger
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2. Draw three lines to match the urban animal to the correct fact.

hedach ) 4 cause pollution in town and city
edgehogs ; p . : .
genog centres with their droppings
. ) )| sometimes eat wild
igeons .
P19 mammals and birds
f like to live in places where there
oxes o .
are lots of invertebrates

3. Inthe UK, how many hedgehogs are in the wild now?

4. Find and copy one word from the Foxes section of the text that means changed.

5. Fill in the missing words in this sentence.

Their calls are a very familiar sound within most town
centres.

6. Why do councils want to control the number of pigeons in towns and cities?

7. Why are hedgehogs well liked in the UK?

8. Which of these animals are you most likely to see? Why?
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This is a fact file about one of the countries most popular childrens’ author:

David Walliams

Who Is David Walliams?

David Wallioms is a comedian, octor and author, He
is also o judge on a TV talent show and writes for TV
David raises money for the charity, Sport Relief, which
helps people alt over the workd.

David's Childhood

Dawvid was born on 20+ August 1971 in Merton, London. He was the child of
Peter and Kathleen Williams, From @ young age, he loved dressing up and his
older sister Julie would often dress him up in girls' clothes for fun

David went to school in Surrey, where his fove of dressing up grew cnd his love
of acting began. He was also on the school swimming team. At age 11, he acted
in his first school play wearing o dress and made everyone laugh. This was
the moment he knew that what he wanted to do with his life was make people
laugh

David the Author

David hod a successful TV career and his own TV show. But he wanted to write
a book about how it's OK to be different. In 2008, he published The Boy in the
Dress’ about a boy who loves football and wearing dresses. -

The book sold over hailf a million copies. 4

David has now written twelve chapter books for children
and six picture books for younger readers. Same of his
most famous books are 'Mr Stink’, Billionaire Boy' and
‘Gangsta Granny'. His books are often illustrated by Tony
Ross, who also itlustrates the 'Horrid Henry' boaks

Did You Know...?
- David changed his name from Williams to Walliams becouse there was
already an octer called Dovid Williams!

« When swimming in the river Thames, David rescued o Labrador dog that
had fallen in the river!

» David has sold over eight million books all
over the world.
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David Walliams

Many of David's books have now been filmed for TV and you can sometimes spot

him acting in them tool

Charity Work
David has raised a lot of money for charity. In 2006, David swam the English
Channel (from England to France) to ruise money for Sport Relief. He swom 22
miles and raised over one million pounds. In 2011, David swam the length of
the river Thames (140 miles) and raised more thon two million pounds for Sport
Relief. David was awarded an OBE by The Queen in 2017 for his charity work.

Questions:

1. What did David like doing as a child? Tick two.

a.
b.
C.
d
2. When was ‘The Boy in the Dress’ published? Tick one.
a.

b.
C.
d

Running
Dressing up
Writing
Acting

2004
2006
2008
2011
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3. Draw lines to complete the sentences about David.

David has raised a lot of
money for charity through

+ being different.

David wanted to write a L
L

book about L] make people laugh.

David knew early on that i

® swimming.
he wanted to 9

4. Number the events below to show the order in which they happened in David’s life.

I:] David had a successful TV career.

I:] David was born the son of Peter and Kathleen Williams.
D David published ‘The Boy in the Dress’,

D David acted in his first play.

‘:] David enjoyed dressing up with his sister.

5. Name two things that a fox might eat.

6. Fill in the missing words in this sentence.

David raised million pounds for charity in 2011 and million
pounds for charity in 2006.

7. What did David rescue when swimming in the Thames?

8. Who often illustrates David’s book? Why do you think he chose this illustrator?
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History

As you know, during World War 2 the British government introduced rationing for certain
items so that there would be a fair share for everyone. In this pack, | have included some

WW?2 recipes that you could try at home. Don’t forget to send us pictures of the things you
make.

Eggless Fruit Cake

* 10 oz self raising flour (or plain flour with 3 teaspoons of baking powder added)
s 1 teaspoon of mixed/all spice

s 1 level teaspoon of bicarbonate of soda

s pinch salt

s 1/2 pint of well strained tea

* 30z margarine

* 30z sugar

* 30z dried fruit

Grease and flour a 7 inch cake tin or a large loaf tin

Sift the flour, salt, bicarbonate of soda, baking powder and spice together into a bowl
Pour the tea into a saucepan and add the sugar, margarine and dried fruit

Heat until the fat and sugar melt and simmer for 2-3 minutes, stirring

Set aside to cool a little

Pour over flour mixture and beat well and spoon into cake tin

Bake in the centre of oven at 180 C for about an hour

Remove and leave to cool for a while before removing from tin

The texture of mine was rather like a tea bread... totally lovely by itself or served sliced and
buttered if you wish




Reading

Wartime Scotch Shortbread

Melt 4 0z margarine, add 8 oz plain flour and 2 oz sugar, mix well and knead until the mixture
bins together. If it is a little dry crumble it again and add a splash of milk and re knead. Put in
an ungreased baking tin and press mixture down firmly so it is about 1/2 inch thick. Prick the
surface and then cut into 10-12 portions.

Bake in centre of moderate oven for 30 + minutes.

Remove, sprinkle lightly with sugar

Serve,
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Rock Buns

* 8 oz wholemeal/wholewheat flour
s Ateaspoons of baking powder

s 1/2 teaspoon mixed spice/all spice
* 2 0z margarine

* 20z sugar

* 2 oz sultanas or dried mixed fruit
* 1 eggor 1 reconstituted dried egg
* milk

* 2 teaspoons sugar for topping

Method

Sift the flour, baking powder and spice

Rub in the margarine

Add the sugar, dried fruit and the egg

Gradually add enough milk to make a sticky mixture

Put spoonful onto parchment paper on baking tray ( makes 12-14)

Sprinkle with the sugar

Cook in a hot oven for 12-15 minutes
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Art

As part of our “Who am I?” topic, we are going to look at famous artists who have done
portraits and self-portraits. This pack will look at Yayoi Kusama.

WHO IS SHE?

Yayoi Kusama is a Japanese artist who is sometimes called ‘the princess of polka dots'.
Although she makes lots of different types of art — paintings, sculptures, performances
and installations — they have one thing in common, DOTS!

WHAT'S WITH ALL THE DOTS?

Yayoi Kusama fells the story of how when she was a little girl she had a hallucination
that freaked her out. She was in a field of flowers when they all started talking to her!
The heads of flowers were like dots that went on as far as she could see, and she felt as
if she was disappearing or as she calls it 'self-obliterating’ — into this field of endless
dots. This weird experience influenced most of her later work.

By adding all-over marks and dots to her paintings, drawings, objects and clothes she
feels as if she is making them (and herself) melt into, and become part of, the bigger
universe. She said:

‘Our earth is only one polka dot among a million stars in the cosmos. Polka dofs are
a way tfo infinity. When we obliterate nature and our bodies with polka dots, we
become part of the unity of our environment:.




Well-Being

HOW DID SHE START?

Yayoi was born in Japan in 1929. She loved drawing and painting and although her
parents didn't want her to be an arfist, she was determined. When her mum tore up
her drawings, she made more. When she could not afford to buy art materials, she
used mud and old sacks to make art. This is a drawing she made of her mum when she

was 10-years-old.

Yayoi Kusama, Untitled 71939, Pencil on paper, 25 x 22 cm

Here are some more self portraits that she has done:

45



Well-Being

ARt INS
- no.;l\Y) 3

, 1982, 1995)

2008

(Self portraits from 2010,

then send

7

Use the next couple of pages to create a self portrait in the style of Yayoi Kusama

us a photo to the home learning email.
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Well-Being

When you are at home all the time, it is really important to look after yourself both mentally
and physically. Here are some ideas of how you might do that:

Physical

Whislt you are out on a walk, why not try these great activities?

You will need:

¢ Cereal box
* Scissors
¢ Camera

0
0

Framing Nature

50

1. Cut out a cardboard frame
from a cereal. Ask an adult to
help with the centre!

2. On a walk or in the garden,
use your frame to capture
nature.

3. Take a photograph and create

a nature collage!

EXTENSION

Why don't you draw or
paint what you have
captured in your frame?

Use your images to create a
book about nature. Label
each flower, plant or tree

and add a description.

Start a project about cloud
formations and use your
frame to capture the
different cloud formations,




Well-Being

Nature Bracelets

You will need:

e Tape of any variety -
I prefer the wider,
transparent parcel
tape but any tape
will do!

1. Cut tape so it fits loosely
around the wrist.

2. Attach so the ‘sticky’ part of
the tape is facing out.

3. Decorate and enjoy!

EXTENSION

Why don’t you create a rainbow bracelet,
hunting for something to include for each ’ \
colour of the rainbow?

Use a wild flower or leaf identification chart to name

the flowers and leaves you are attaching to your
bracelet.

@MrsBpriSTEM
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OUTDOOR COLOUR SCAVENGER HUNT

As the weather is so nice, why not get outdoors and
find different colours in your garden or on a walk! %

b Y

@mooreprimarg
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Mental

Why not have a go at some of these pencil and paper games with your family?

Close Your Eyes Drawing Game

Close your eyes and draw a picture. Choose something simple, such as a
house, tree, or stick figure person. Those watching may think you are praying,
meditating, or in deep concentration. All the while you are attempting to draw

a familiar object from memory without looking at the paper.

Category Doodling Pen and Paper Game

Choose a category of something that is simple to draw and see how many
variations you can create. Examples are leaves, decorated balls or boxes,

circles with designs, hearts, flowers, or drink glasses.

Tic-Tac-Toe

Probably the first and easiest pen and paper game learned by a child is Tic-Tac-
Toe. Grids of two vertical and two horizontal lines are filled with either an X or
O as players take turns. The goal is to have three marks in a row - horizontally,
vertically, or diagonally - before your opponent. The player who goes first can
have the advantage. Two experienced players often end the game in a draw.

Tic-Tac-Toe teaches good sportsmanship and beginning reasoning to young
children.

53



Well-Being

Dots and Boxes Pen and Paper Game

Begin with a grid of dots drawn on a piece of paper. You can choose what size
grid you wish to use. A six-by-six grid works well for younger children. More
advanced players may wish to draw a much larger grid. Two or more players
take turns with different colored pens or pencils drawing lines between dots.
The goal is to complete a box while preventing the other player from doing so.
When a block is completed by a player, they write their initials inside and draw

another line. When all of the dots are connected, the person with the most

completed blocks wins.
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Battleship

You may know this as a boxed strategy game, but it is easily played with pen
and paper. Players begin by drawing two grids with ten vertical and ten
horizontal lines on two separate sheets of paper. The horizontal side is lettered
and the vertical side numbered. On one sheet, each player draws rectangles
representing a fleet of ships without letting the other player see their location.
On the other grid, hits are marked with an X and misses with an O. The ships
must take adjacent squares vertically, horizontally, or diagonally. Each player’s

fleet consists of the following:

» 1 aircraft carrier covering five squares

> 1 battleship covering four squares

» 1 cruiser covering three squares

> 2 destroyers covering two squares each

> 2 submarines covering one square each

Players take turns firing a salvo of seven shots, calling out guessed locations of
the other player’'s ships, example F6, G9, etc. An opponent must state the
number of hits and the type of ship, but not which shots were hits and which
misses. Once all the squares of a ship are discovered, a player must say, “You
sank my battleship (cruiser, destroyer, etc.).” Each time a player loses a ship,
the salvo is reduced by one shot. The goal is to sink all of an opponent’s ships

to win the game.
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On the next few pages are some colouring sheets for you to do. Colour carefully, perhaps
choosing a different colour for each section.
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Grown Up’s Section

Guide to maths vocabulary

In the Year 4 National Curriculum, children are taught to use column addition and column
subtraction to add and subtract 4-digit numbers (including decimal numbers in contexts such
as money). The focus of the curriculum is that children will become ‘masters’ of this method
and should be able to apply this method to a range of problems and situations. Therefore,
the range of activities in this book will help your child develop their fluency, reasoning and
problem solving when using column addition and column subtraction.

The Column Method

The column method of addition and subtraction is so called because it sets the numbers out
into columns based on their place value, e.g. Hundreds, Tens, Ones, tenths etc. (Note: If your
child isn’t secure with place value, it is best to go over this before completing column
addition and subtraction.) To begin this method, we always start by adding or subtracting the
numbers in the right column and then work along to the left, adding or subtracting the
numbers in that column.

When using column subtraction, the largest number (whole) is always placed above the
smaller number (part). Also, you must always subtract the digit below from the number
above; this is sometimes a common misconception with children as they sometimes calculate
the difference between the two numbers.

Borrowing vs Exchanging: During school, you were probably taught to ‘borrow’ from the next
column if you couldn’t subtract the bottom number from the top number in a column.
However, the current term used is exchanging for this procedure.

Maths Vocabulary:

‘ones” Werns Known as units prior to the Natsonal Cumcuum update in 2014
& calculafion 5 9 way 1o detemnine an amaunt. Here, it invohves oddificn and subtrachon.

Base 10 eq L'ipI'I'IE"I'I'l refers to a p“'r'i.l_-'“ﬂ resource which nepresents numbers. The sma
cubes represent “ones’; the rods represent ‘fens” and are made up of 10 small cubes; the
squares represent ‘humndreds” and are made up of 10 rods; the ange cubes represent
‘thiousands’ and are made up of 10 SQUan2s.

Rouvnding is when o whole number or decimal number s changed so that it is simpler bt
still has a value cicse to what it was. Rounded numbers anre easier to vse, but not as
accurate.

& part-whole model is a concept o show how NUMDens can be spiit inte different pars.
They can be used 1o represent numoers, as well as a wide vanety of calculaticns. The
concept folows the structure part + part = whole, but this may change depending on

Mo Ay pars thene ana.

& negafive number is g numo
or verfical number line. A neg

Ecample, -4

2 FEES TNan Terd. Il &On S represenmked on 2Mner J hior@onta

five number is writhen with a minws sign in front of it

Shape vocabulary



Grown Up’s Section

‘Quadrilateral’ means four sides. ‘Quad’ means four and ‘lateral’ means sides. A
guadrilateral is a 2D shape that is closed with four straight sides. Quadrilaterals have four
vertices with interior angles that add up to 360°.

Guide to grammar vocabulary

Adult Guide to Conjunctions

In Years 3 and 4, children are taught to use a range of conjunctions to extend sentences. They should
be able to use CO-ORDINATING and SUBORDINATING conjunctions fluently in independent writing
io help engage the reader. This activity pack is a great way to help to consolidate and reinforce the
use of conjunctions.

Conjunctions: Conjunctions are the ‘glue’ that hold together words and different parts of a sentence.
For example, in the sentence, ‘Sandra bought a new bag and she bought some new shoes’, the
conjunction and joins together the two clauses (Sandra bought @ new bag. She bought some new
shoes.).

Co-ordinating conjunctions: Children will first begin to use co-ordinating conjunctions in Years |
and 2. They are usually used to join two independent clauses together (small sentences which make
sense on their ownl. The conjunctions taught are and, so, but and or. For example:

June fkes coffee but she does not like tea.

In the sentence above, ‘June lkes coffee makes sense on its own. Equally, so does ‘she does not
fike ted'. However, when we join these two together using but, they make one compound sentence.

Subordinating conjunctions: In Years 3 and 4, children are taught to use a range of subordinating
conjunctions to extend their sentences such as when, because, if, unless, although and while.
These are the first words within a subordinate clause {a sentence which doesn't make sense on its
own), which join it to the main clause (the sentence which can make sense on its own). For example:

Peter ate his dinner quickly because he was hungry.

‘Peter ate his dinner quickly is the main clause because it makes sense on its own. However, ‘because
he was hungry is not a sentence which makes sense on its own. This clause only makes sense once
it is joined to the independent clause, ‘Peter ate his dinner quickly.
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Grown Up’s Section

Flace Valve of 4-Digit Humbers (pags 21

1. 4
Eive !

The numitsr has 2 housasch, 4 endieds, B lem ond 3 ores. 248

The numissr has ¥ houeasch, I bundieda, |1 hen ond ¥ ane. AT
The numiser has 8 houvieasch, ¥ fens and 2 enew HiaF:
Then haox & fho 3 ond £ oo & 303

2 A =Comect. B = False. The missing number is 0.

3. Theo has made two mistakes. His first misiake is that he has created the number 4.037
on the place value chart, not 4,307, His second mistake is thal # he adds 2 more hendreds
o the number on the place valve chart, it will make 4,237, nol 4,307. Theo has added 2
mre thaousands, not 2 more hundreds.

Find 15, 10s, 100s and 1.000s More or Less (page 3)

1. 1.702

2 1.5%2; 1,692 2,172, 2,492 2 7%2; 3.072

3. A_ 7,005 B. 4047, C. 4,005

4 A_5818; B. 3,955, C. 1,324

5.2 345

& 4,833, 4 803; The sequence is decreasing in steps of 30 becouse & BF3 - 30 = 4,843,
7. 3.3%%. Kelly has added &,000, nof s0.

Round to the Nearest 100 (page 4)

1. Cindy is comect.

2. A - 3ix hundred and forby-fwo, B - 36%

3. Taylar is imcomect. The number 755 has 5 fens, therefare it needs to be rovnded vp which
wiould make the answer 800.

MNeqgative Numbers (page 5)

1. A -2X2°C; B. -2°C; C. 8°C, D. -3°C E. -25°C
2 8 mefres
3. she s comect. 25, 20, 15,10, 5, 0. -5, -10
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Addition and Subtraction Answers

Addition

Grown Up’s Section

o Complete the calculation.

©0

H

©

=

©

00| 000
©008 ©00

00
©00 0000

00
©000e ©00

o Who has got each question correct? Tick your answer,

a) Nijoh scott
H|T|O H|T|0O
44 5 445
+3 |4 |8 + 3|4 |8
78 1|3 7193
1

b) Nijah scott, Ve
Th{H T|O H T O
418 2 6 4|8 2 6
+/1|7 8 + 1,78
6 6 0 6 5|0 04
101 1111
What mistake has the other person made In each
alaulation?
Talk about It with a partner.
o Complete the additions.
a) ©) 3,784 + 2,526
Th H T O
417 1|2 317 8| b
+(3|4a 9|2 +2]5] 2| _L
(2|04 613|1]0]
] T
b) d) 79 + 654 + 1,212
Th H T O
60|75 7|49
+ 9 4|8 &S| L
0|23 = 1312
! 170|k|5
T

o Write each calculation In the correct colummn.

(?uum )(Lm&ﬂﬂ)(1m+ﬂmj

(1gﬁ+?u ) (3pu+znzj ( 17 + 053 )

No exchange More than one
1 exxchan
needed ge
2lar 1527 Sl +2,372

7 +953

Write one more calculation of your own I each column.

o Dexter Is playlng a computer game.
The table shows the number of polmts he gets In each round.

Round 1 2 3

Number of polnts 3,550 2,175 1,805

a) How many points does Dexter have at the end of Round 27

b} He needs 8,000 by the end of Round 3 to win the game.

Does Dexter win the game? L0
Show your working.

S 13lals a
2| 4| &S F wing 0 g
-~ ¥
o [ =
+ & = Lort
3 b O

" Work out the missing digits

b)

ThiH|T ThiH T O
3(7|%|9 HEIER
+|21]8|6 + 9 8|7
[ - 4|28
¢} Find two possible answers,
ThH T O ThH T O
2|1 5 2|91 4
+ 3| 2|86 ¥ + 3|08
6|1 8|2 6|1 8|2

How did you work this out? Talk about it with a partner.

Are there any more answers?
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Subtraction

Grown Up’s Section

o Kim has made a number using base 10

o Use the place value chort to complete the subtractions.

A Jug contains 1,500 ml of julce.

)

EiE|

The Julce Is poured Into 2 glasses.
Each glass holds 258 mi of julce.

How much juice Is left In the jug?

HE

H ﬂ
Th H T
= = ) g g 8
. o) 564 - 354 = I:I ©) 564 - 355_
bsea-ass=[ 01 |
a) Subtract 8 from Kim"s number.
Look at your calculations in parts a), bl and €.
What Is the same? What Is different?
I:l o uUse the place value chart to complete the subtractions.
b} Explain the method you wsed.
Th H T
) subtract 20 from Kim's number. |:| 8
d) subtract 900 from Kim's number. I:I 0 5,435 - 2,036 = I:I
w520 oo |
e) complete the subtractions.
€} 5,437 — 2,036 = I:I
Look at your calculations in parts a), bl and ).
What Is the same? What Is different?
o Complete the calculations. o Wiork out the missing digits.
a) ™H T|o 9 ™H a} ThiH|T|oO b ThiH| T
7 5 7 A I a 40 —|
-2 /4|0 8 - 3 - 1/2]32 :‘ - 3
B [2[e]a
? ThiwiT 0 ! Thinl T Al Il the digit cards to make Ible subtraction fo
i T rrange all the cards to make a possible su on for
5 4 Elalm| o o g g Ro
each description.
-2/7/4|5 -11]7)3 3

Ol 1(|2(|3|/4||5]||6]||7

a) Thaere are 2 exchanges.
The answer s
less than 2,000

b) There are 2 exchanges.
The answer Is
greater than 4,000

¢) There are 3 exchanges.
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Perimeter
Stage 1
1) 8m
LGom
Zem 5m
Gem + Gem = 2em o+ Jem = |2em fm + ¥m + Sm o+~ Sm - 2m
&em
Jcm Em
bem o+ Gom - 3om - 3om = laewm o+ Smo+ Sm o+ Sm o= 2w
7 B 20em
Tom
1Z2em
Zcm 3m
Tem + 2em = Sem Em + 3m = lim 20cm + 12em = 32em
Gem x 2 = 18em N x 2 = 22m 32em x 2 = bbhem
Stage 2
1) Zm 10cm ; ':'uE
=
4em Sem
&m
Jcm

locwe + Scm = [5cm

Gem x 2= Fem I5cm » 2 = 30cm
Sami has enly deabled the length 2HE e This is comect. Sami has
and not the width as well. The Sami has muttiplied the length added the length and the
answer should be 14cm. awd width together rather than width together and multiphied
adding all the sides. The answer by 2.
should be 20m.
2)
Bgm
3cm Jcm
Bgm
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Stage 3

1) The length and width must total 18 metres, as this is half of the perimeter. .
Possible measurements are: Im by ITm, 2m by 16mm, 3m by 15m, Gm by Mo, Se by 13m, 8m by 12m, Tm by @
I, Bm by 1om and Sm by 9.
Look for children beginning to work systematically.
2) The classroom could have the followaing dimensions:
4m by 3m (perimeter is 34m)

#m by Tm (perimeter ic 3om)
Tm by 6m (perimeter is 26m)

&m by Sm (perimeter is 22m,)

English

I have never liked heights, SM

Make a sandwich.unless you're eating out,
_‘-_._.__._--'-'-—-—"F

He still shouted at me and I cried.
T e—

Whether you like it or not, I'm going to the cin
,—————— —

They were going to build a road, but pw
“—-—_______,____aﬂ“_-___

I'll do it, because I'm going there anyway.

Science

Start here
Yes —= Con I Fly? ——= MNa
Tes Do I live underwaoter?

L4

Mo

Cony || cLawm f
ﬂ Do 1 have legs?
o ) +/1/5J/'~ p yd l

uman

é Y

i ]

Clown fish

&FCkE

Can yau think of any ather animal which
w:>u|<: Fit in H’lf_' l:C\:-cI}SF"

¥
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Yes

HC]S I'I' 90"' a 'FU[‘FH IDOCJLJ?

Yes NO

bQ_Q_ WM ‘WDO(L HW s No
shauwk

HGIS 'H”]IS FT\II']ibGOS‘i’ 90+ ‘NH"HS?

YQS

Hc:ve I 90"' more 'H’]Clﬁ 8 |895?

Yes No

Grown Up’s Section

No
HGVE‘ I gO'I' |695?

No

Have [ 901‘ a shell?

J

=

For this next flow chart, there could be different answers. Just make sure that the question
they give matches with the answer. | have given some example questions.

Complete this flow chart

Yes - Does this animal _ No

Can the animal swim?

have wings?

Yes —

Does the animal live in a
cold place?

Yes

Can the animal live out of water?

Does the animal live in a

Do I belong in the water?

}

No

rainforest?

Can the animal make a web?

Does the animal have legs?
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Doorstep Wildlife

I. Which animal is the most common wild carnivore found in the UK? Tick one.

) hedgehog
) pigecn
& fox
) badger
2. Drow three lines to motch the wrban animal to the correct foct.
cause pollution in town and sity
hadgehoge cantraz with their droppings
N sometimes eat wild
Fias mammels and birds
lika to live in ploces whare there
foxas ore lots of invertebrotes

3. Inthe UK, how many hedgehogs ore in the wild now?
In the UK, there about one million hedgehogs in the wild.

4. Find end copy one word from the Fomes section of the text which means the tamae oz
changed.
adapted brilliantly

. Fill in the missing words in this centence.
Thair cosing calls ore a very fomiliar sound within most cities and tewn contres.

&. Why do councils want to control the number of pigeons in towns and cities?

Pupils’ own respenses, such as: Pigeons are thought of as vermin by many people so
councils weant to control their numbers so they don't get too high-
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David Walliams

1. What did David like doing as a child? Tick two.
O running
@ dressing up
O writing
@ acting
2. When was ‘The Boy in the Dress' published? Tick one.
O 2004
O 2006
@ 2008
O 2011

3. Draw lines to complete the sentences about David.

David has raised a lot of

money for charity through 1 ' being different.

David wanted to write a

book about b make people laugh.

David knew early on that )

he wanted to ! swinuning:

4. Number the events below to show the order in which they happened in David's life.
David had a successful TV career.
El David was born the son of Peter and Kathleen Williams.
EI David published ‘The Boy in the Dress',
E] David acted in his first play.
E] David enjoyed dressing up with his sister.
5. Fill in the missing words in this sentence.
David raised two million pounds for charity in 2011 and one million pounds for charity in
2006.
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